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FCI EXAM-13 (Evening)

+—General Intelligence

Directions : In questions no. 1 to 7. select
the related word / number from the given
alternatives.

1y

T,

French: France : : Dutch ; 7

{a) Holland (b) Norway

(e} Fiji (d) Sweden
. Problem : Selution : : Task : ?

(a) Job {(b) Duty

{c) Work (d) Accomplish
. Cuba : Havana : : Cyprus: 2

(a) Zagreb (b) Prague

{c} Cairo (d) Nicosia

Wall : Brick : : Boof: ?

{a) Tile (b) Water

(c) Shelter {d) Room

. Ink :Pen: - Paint: 7

(a) Colour (b} Brush
() Canvas (d) Artist
. Australia ;: Kangaroo : : Siberia : 7
fa) Yak (b} Reindeer
(¢} Bear (d) Yet
b 10 B LR
(a) 26 (b} 125
(c) 240 (d) 625

Direction : In questions no. 8 to 14, find the
odd number,” word” number pair from the
given alternatives.

10.

11.

12.

13.

(b} Fish
(d) Crab

[a) Frog
(c) Tortoise

s 13,17, 23,63, 71
(a)13 (b} 23
(c) 63 (d) 17
(a)16, 25 (b) 36, 49
{c) 64, 83 {d) 100, 121
(a)8 - 56 (b) 11-115
(©9-72  (d)10-90
(a) Padma Bhushan
(b} Bharat Ratna
(¢} Jeevan Raksha Padak
(d) Param Vir Chakra
(a) Paneer (b) Butter
(e} Milk (d} Ghee
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14. (a) Computer (b Gas Stove
() Iron Box (d) Mixie

15. When 8- 5=643, 9-2 = 817, then
7=3=7
(a) 463 (b} 494
fc) 213 (d) 621

16. If 15x26=6512, 29 x36=6923,
then38x 59=7
(a) 9853 (b) 3859
(c) 9835 (d) 9583

17. How many times does the number
432 appear in the following rows?
87653 75432 54322 24312 64321
67643 41252 42132 54212 81912
91432 43215 52432 54312 54302
(a) 4 (b} 5
€) 6 (d)7

18. Which number is wrong in the series?
7,8 12,20, 37,62
{a) 12 (b) 20
(c) 37 ~ {d)62

19. Which word will appear fourth in the
dictionary?
(a) Solitary (b) Selitude
{c} Solitaire (d) Soliloquy

20. Which one of the given responses

would be a meaningful order of the
following?

1. Verandah

3. Portico

5. Hall
(a}3.4,6,2,1,5
(513,1,5,6,2.4
(£)3.5.6,.1,2, 4
(d)3,1,5,6,4,2

Directions : In question no. 21 to 23, which
one set of letters when sequentially placed at
the gaps in rthe given letter series shall
complete it?

2. Kitchen
4. Bathroom
6. Dining room

21. bas _asb s a ba
(a) sbabs (b} beabs
() sbaba {d) sabbs
22. bms_ tvb_sut_bm_u_vbmsut
(a) umvst (b} mvuts
(c) vustm {d) uvstm
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23. a_ cdaab cc daa bbb ceddd

(2] bdbda
{(b) bddea
{c) dbbea
{d) bbdac

Directions : /n questions no. 24 to 28, a
series is given, with one number/letter
missing. Choose the correct alternative from
the given ones that will complete the series,

24. 138, 142, 146, 150, 7, 142, 138

25,

26.

27.

28,

29.

30

4

(a) 146

(h) 144

fc) 148

(d) 140

g A8 REy 1B

6, 24, 7, 384

(a) 48 . (b) 56
(c) 72 (d) 96
0,726,637 ;
a} 125 (b) 126
(c) 124 (d) 98
Y. U0 M 17

(@l G (ME
(c}C (d)D

18,20, 21,22, 24, 25, 26, 27,28, 30,
7

(a) 31 (b) 32

(c) 34 (d) 36

When a mee was planted in the
garden, its height was 12 cm. At the
end of one vear, it became 18 c¢m
high. At the end of two years, its
height increased to 27 cm. What will
be irs height (in cm) at the end of
three years?

{a) 45 fbm%

(c} 40 (d)39

Yash is at 21* position in a class of 51
boys. What is his position from the
end?

(a) 29
(c) 27

(b) 28
(d) 31



3l

3z,

34,

3s5.

36.

37

38.

fcle

From the given alternative words,
select the word which ecannot be
formed using the letters of the given
waord

CIRCUMSTANTIAL

{a) CIRCUS

(b} MANIAC

(¥ STAND

(d)RATIAL

If in a certain code, MICROWAVE is
written as LIBSNXZIWD, how is
POPULAR written in that code?

(a) OPOVKBQ ;

{b) KBOVOPA

{c) QBEVPAV

(d) OPKVPAV

U PUNCTUAL can be written as

47819765, how can LUNA be written
in that code?

(a) 5786 (b} 5867

(c) 7586 {d) 5678
[Flx2x4=04Rand1x2 %3 =246,
then3 x2 x4 =7

(a)324 {b) 423

(c) 648 (d) 243

If ‘MONEY PLUS’ is used as a code
word by a shopkeeper for marking
the price of articles, where M stands
for?21,0forT2 NforT3 EforT4 ¥
for T 5 and so on, what is the price of

an-article marked as PLUM ?

(a) % 6,781 {(hi2.1.678

)T 7816 )71, 671

If “FEED™ is coded as 20, then
“BREAD" will be coded as :

fa) 15 (b)) Bl

{c} 35 (d} 30

On a dice a, b, ¢ and d are written on
the adjacent faces in a clockwise
order and e and f are at the top and
bottom of the cube. When ¢ is at the
top, what will be at the bottom?

{a)c (b)a

{d)b

In the alphabetical order ﬁ, B C
D.......Z, which letter is 10 1o ‘the
raght of the letter which is 4" 15 the
left of F and which letter is 11tII o the
leftofthelem_&twhmhw:i to the
right of T ? Which of the following
letters indicates the correct answer?

(a) M (b) K

ek N (d)L

39, A statement is given followed by four

inferences marked A, B,C and D. Find

25/02/2015

41.

Visit Us For More Free Materials

out the inference that definitely
follows from the given statement.

Statement : Most of the doctors of
this hespital are foreign returned.

Inferences :

fa) There is no doctor who has not
gone abroad

{b) This hospital has a few doctors
who have not gone abroad

(c) All doctors are foreign returned

(d)All hospitals have foreign
returned doctors

. A starement is given, followed by two

concluzsions I and [I. You have to
consider the statement to be true
even if it seems to be at variance from
commonly known facts. You have to
decide which of the given
conclusions, if any, follow from the
given statement.

Statement : A book on Yoga is

intended to guide the layman to
study Yoga in the absence of a

‘teacher.

Conclusions :

I. A téacher may not always be
available to teach Yoga.

II. Yoga can be studied from a book.

(a) Only conclusion I follows

(b Only conclusion I follows

{c) Both conclusions | and I follow

(d) Neither conclusion I nor IT follows

Based on the details, estimate the

number of people affected by liver
problems in the year 1986.

1986 1988 1990 1992 1994
e Bk e
(a) 36 (b 11
() 17 {d) 23

Which answer figure will complete
the pattern in the question figure?:

Question Figures :

W

Answer Figures :

{a) (i3] {c) {d).

. Pick out the picture similar to the

guestion figure.
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48,

Question Figures :

’

Answer Figures :

m o @

{a)
. Identify the answer figure from

which the pieces given in the
question figure have been cut.

Question Figures :

(a} b (<) id)

. The following diagram represents the
people who read various types of
books. Here A represents magazines,
B represents short stories books and C

represents novels. What does the
shaded portion depict?

A

N
W B

)

(a) People who read short stories
books and novels

(b} People whp read nowvels and
magazines

(¢} People who read magazines and
short stories books

(d) People who read magazines, short
stories books and novels

Which nomber indicates among

women, home makers who are good
at crafts?




52,

. An

47. From the given answer figures, select

the one in which the question figure
is hidden/embedded.

Question Figures :

Answer Figures :
& |0 |18 |
(a) (b) {c) (d)

. A square sheet of paper is folded in a

particular manner and a punch is

made. When unfolded the paper

appears as given below.

Find out the manner in which the
paper is folded and punch iz made
from the given responses.
Question Figures :

&

production is a feature of

{a) Capitalist economies .

(b) Socialist economies

(c) Mixed economies

(d) Barter economies

The wvalue of percentage change in

the quantity demanded divided by

the percentage change in the own

price iz known as

(a) Elasticity of demand

(b) Market elasticity of demand

(c) Price elasticity of demand

{d) Income elasticity of demand

Which direct tax among the following

gives maximum net revenue to the

Government?

(a) Corporate Tax (b) Income Tax

fc) Wealth Tax  (d) Gift Tax

increase in the Autonomous

Government expenditure has direct

impact on

(a) aggregate supply of consumer
goods

(b)aggregate demand in the
economy
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al Awareness

. Social ownership of means of

§5.

56.

Visit Us For More Free Materials

=
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I

]

¥

=)

X ol

(a) (h) {d)

If & mirror is placed on the line AB,
then which of the answer figures is
the right image of the given figure ?
Question Figures :

Answer Figures :

g br 56

A word is represented by enly one set
of numbers as given in any one of the
alternatives. The sets of numbers
given in the  alternatives are
represented by two <¢lasses of
alphabets as in two matrices given

AR A
m

{¢) total savings of the people

{d)total investment in the capital
goods industries

Which of the following is not a

function of Commercial Bank?

(a) To receive the public deposits

(b) To provide loans to needy persons

(c) To operate as the .custodian of
Foreign Exchange

(d) To mobilise the savings of the
public into productive uses

What is the mode of election of the

chairpersons of the Panchayats ?

(a) Their election is left to discretion
of State Governments

(b) They are directly elected by the
electorate age 21 and above

(c] They are indirectly elected by

57.

members of respective Panchayats
(d)They are nominated by Gram
Pradhan
Healthy public opinion contributes o
the success of
{a) authoritarian government
(b} democratic government
(c) autocratic government
{d) monarchy

Downloaded from ExamPundit

58.

59,

-

61.

below. The columns and rows of
Matrix [ are numbered from 0 to 4
and that of Matrix I are numbered
from 5 to 9 A letter from these
matrices can be represented first by
its row and next by its column, e.g., E
can be reprezented by 12, 24, etc, and
M can be represented by 56, 75, etc.
Similarly, you have for the world
OlL.
Matrix |
2

o R =)

@|=|n{x|m|=
Iimjo|—|™|—
mig|— o |w
m|T|mlio]—|&

G
E
H
F
1

:

rlzizlZ|olw]|=
=IO |=|alv

HEEEE

al—|=lajz]e

MO O | = O
ZiT|E (0w

o

(a) 67, 41, 86
(b) 67, 42, 86
{c) 65, 42, 86
{d) 65, 41, B85

E -

One-third of the members of the
Rajya Sabha retire after every

{a) one year

(b} second year

fc) third year

(d) fifth year

Who administers the oath of office to
the President?

(a) Chief Justice of India

{b) Speaker of Lok Sabha

{c) Prime Minister

{d) Vice-President

Which of the following States has the
largest representation in the Lok
Sabha?

(a) Bihar

(b) Maharashtra

{c) Madhya Pradesh

(d) Uttar Pradesh

The following period is referred toin
Indian History as the ‘Gandhian Era’:
(a] 1BB5 - 1905

(b) 1905 — 1919

(c) 1845 — 1885

(d) 1920 - 1947



62. The first Anglo-Sikh war was fought
[between the English and the Sikhs]
during the Governor-Generalship of
(a) Lord Cormwallis ;

h) Lord Ellenborough
{c) Lord Charles Metcalfe
{(d) Lord Hardinge

63. Who created a territorial base for the

Portuguese in India?
{a) Vasco-da-Gama
(b} Albuquerque:

{c) Almeida
{dy Cabral

64. Which of the following languages

was used by Asoka for administrative

and social purposes?
{a) Prakrit (b) Kharosthi
(c) Sanskrit id} Pali

65. The last Governor-General of India
was J
{a) Lord Wavell =
{b) Dr. Rajendra Prazad
{c) Lord Mountbatten
(d} C. Rajagopalachari
66. Therate of Earth's rotation on its axis
 is higheston
{a) January 3
{b) December 22
(c) July 4
{dyNone of the above as it never
changes
67. Which river used to be known as
“SBorrow of China'?
(&} Mekong (k) Hwang-Ho
() Yangzi {d) Sikiang
68. Geysers erupt due to
{a} Hvdrostatic pressure
(b) Geothermal energy
[c) The breaking of rocks
(d} Seewage of rain water
69. Which of the following fibre crops is
grown on black seil ?
{a) Cotton (b Jute
() Flax (d) Hemp
70. Which one of the following is not a
natural ecosystem ?
(a) Forest
(b3 Grassland
() Marshy land
(dYAquarium
71. Leafy vegetables provide adeguate
{ayFats
(b} Iron
() Proteing
(d) Carbohydrates
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72, The process of liberation of energy in
human body by oxidation of foed is
called
(a) Respiration

(b} Bigestion
{c) Fertilization
fdyAbsorption
73, Pecten is found in
{a) Reptiles {b) Birds
{c) Amphibia  (d) Mammalia
74. After their action hormones in the
body are -
{a) recycled
{b) destroyed
{c}) absorbed
{d)used as catalysts
75. Which is an insectivorous plant?
{a) Helianthus  (by Strobilanthes
{c) Nepenthes  (d} Hibiscus
76. The blood wessel having smallest
diameter in the body is
(a)Vein ~ (b) Artery
(¢} Capiltary (d) Arteriole
77. Which of the following cannot be
polarized?
{a) Sound waves in air
{b) Radio waves
(¢} Visible rays
(d} Infra-red rays
78. Optiecal fibre is used to transmit
(&) X-rays (b} laser beam

{c) gamma rays {d) cosmic rays
79. In which of the following media does

light have the lowest velocity 7
(2} Air {b) Water
(c) Kerosene (d) Glass
80. Archimedes Principle holds true for
{a) solids only (b} liguids only
{c) gases only  (d) fluids only
81. Which one of the following is not an
operating system ?
{a) MS-DOS (b UNIX
{c) Mac 08 (d) Windows 3. x

82. Before one can access information
thi’u'ugh Internet, the compurer must
be equipped with a hardware device
called 1.

{a) Mouze (b) Modem
(c) Muldplexer (d)Printer

83. The chemical name for Vitamin C is
(a) Formic acid ;

(b) Ethyl alcohol
() Ascorbic acid
{d) Tartaric acid
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B4. Dryice is
(a) Solid sulphur dioxide
(b) Sotid nitrogen dioxide
(¢} Solid ammenium chloride
(d) Solid carbon dioxice
85. The gas that smells like rotten eggs is
(a} Sulphur dioxide
(b} Nitrogen oxide
(¢) Hydrogen suiphide
(d} Ammonia :
86. The popular name of Cubie Zirconia is
{a) Carborundum
(B} American diamend
e} Ceramic
{d) Plaster of Paris

87. Which of the following eco-systems is
not naturally occpning‘?
{a) Mangrove foreits
(b) National parks
(¢} Marine Parks
{d) Plantations

88. The natural environment refers to
{2} the atmosphere in a forest
(b) the plants and animals in a forest
{c) the atmosphere of an arca - a
forest, a lake or an ocean
(dithe living organism  and
non-living objects or factors in a
area  undisturbed by human
activity |
89. The LPG is produced during refining
of crude oil. Tts major components are
{a2) methane and burane
{b) methane and ethane
{c) propane and butane
{d) propane and methane

90, Albedo of a surface is defined as.
(a) refracted radiation/incident
radiation
(b) reflected radiation/incident
radiation
(¢} incident radiation/reflected
radiaton
(d}incident radiation/refracted
radiation
91, Who has taien the maximum pumber
of wickets in Test cricket?
(a) Murlitharan (b) Kapil Dev
() Shane Warne (d) Anil Kumble
92. ‘AGMARK’ is
[a) acooperative for production of eges
1) a regulated agricultural marker
() an agrarian development market
(d)a quality . stamp for some
commodities




93. First Indian train having IS0 2001
Certificate runs between
(a) Hazrat Nizamuddin — Agra Cantt
(b) Hazrat Nizamuddin - Habeebganj
() Delhi — Kolkata
(d) Delhi - Kota
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(a) Kerala (b) Karnataka
{c) Tamil Nadu (d) None of these
. Kalpakkam in Tamil Nadu these days
is in the news for its
(a) Thermal Power Plant
(b) Hydel Power Plant

94, A Secular Agenda’ is a book written (c) Atomic Power Plant
by {d) None of the above
{a) M.J. Akbar 97. Gir forest is known for
(b) Prem Shankar Jha {a) Lions (b) Deer
{c} Arun Shourie (c) Tigers {(d) Elephants
(d) Mani Shankar Aiyar 98. What is known as rock cotton?
95. Bandipur Nartional Park is situared in (a) Asphalt (b) Asbestos
the State of (c) Gypsum {d) Limestone
*—Quantitative Aptitude
(06)* - (0.5)% . (a) 2 days (b) 6 days
101.The value of {Eﬁ_‘}i+ T is (©) 5 days (d) 4 days
(a) 1.1 b1 0.1 lﬂB.A.. shopkeeper ghresl 12% addjlinpal
(e) 11 (d0.11 Ghiouns on Ew dicosnter. pros,
after giving an initial discount of 20%
102.1f v2™ = 8 then n must be on the labelled price of the radio. If
{a)6 (b) 4 the final sale price is ¥ 704, then what
(e} 8 (d)2 is its labelled price ?

103.The number of ways of expressing
175 as the product of two whole

numbers is
(a) 2 (b)3
{c) 4 (d)5
104, 1f : ,i and are in
Y-x 2y i
Arithmetic . Progression, then the

relation between x, y and z is given
by

(@) y%=xz (b)x+y =2y
CZy=x+2 [(d2r=x+y
105.Find the simplest value of the

expression

RS U e
10 100 1000 10000
(a) 0.3421 (b) 0.2341
(c) 0:4321 (dy0.1234

106.A and B can together do a piece of
work in 25 days. If A, B and € can
together Anish the work in 21 days,
how long will € take to do the work

by himself ?
(a) 7 days (b)) 42 days
(c) 84 days (d) 35 days

107. Twelve men can complete a work in 8
days. Three days after they started
the work, 3 more man joined. In how
many days will all of them together
complete the remaining work ?
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(2)T 84480 (b) T929.28
(c) T 1000 (d)T 1,044.80

109. The marked price of a watch is T 400.
After allowing a discount of 25% on
the marked price, there was still a
loss of ¥ 20. The loss percent is

1.
(a) 8 {hjﬁal_

@92 @12

110.An amount of ¥ 1,200 is distributed
among A, B and C in the ratio of
5:7:13. What is the difference
between the shares of C and B 7
()T 288 (b} T 328
()T 296 (d) T 286

111.A dog takes 6 leaps for every 4 leaps
of a hare and 2 leaps of the dog are
equal to 5 leaps of the hare. What is
the ratio of their speed ?
(a)8:13 (b)24:15
(cY12:7 (d}15: 4

112.After replacing an old member by a
new member, it was found that the
average age of 5 members of a club iz
the same as it was 3 years ago. The
difference between the ages of the
replaced and the new member is
{a) 15 years (b) 8 years
{c) 4 vears (d) 2 years
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89. Which of the following combinations
of the States and the festivals mainly
celebrated there is not correct?

{a) Rajasthan — Gangaur Teej

(b} Maharashtra - Ganesh Chaturthi

{c) Uttar  Pradesh -  Krishna
Janmashrami

(d}Guijarat - Durga Pooja

100. Wha is the first non- Indian to
receive the Bharat Ratna?
{a) Martin Luther King
(b) Mother Teresa
{c) Khan Abdul Ghaffar khan
() Zubin Mehra

113. A shopkeeper proposes to sell his
goods on cost price but uses 800 gm
instead of 1 kg. What is his gain

percent ?
(a) 25 (b} 35
{e) 15 (d) 30

114.A fruit seller purchased 50 kg of
mangoes at the rate of T 22 per kilo.
He sold some of the mangoes at the
rate of ¥ 30 per kilo and the restat the
rate of ¥ 20 per kilo. If he incurred
25% profit overall, the amount of
mangoes that ean be sold at the rate
of 220 per kilois
(a) 12.5 kg (b) 37.5 kg
{c) 25 kg (d) 20.5 kg

115.1f a number is decreased by 10%, it
becomes 54. By what percent should
it be increased to make it 72 ?
(a) 12
(b) 21
{c) 10
(d}20

116. Due to increase in cost of cooking oil
by 40%, the consumption of oil by a
consumer is decreased by 209 Then
the expenditure for oil of that
consumer will be changed by
{a) 20% increase
{b) 209 decrease
{c) 12% increase
(d} 12% decrease

117. A man crosses a street 600 metres long
in 5 minutes. His speed in km/hr is
(a) 8.4
(b) 3.6
() 7.2
(d)10



118.The simple interest in 3 years and
compound interest in 2 years on a
certain sum of money at the same

rate are ¥ 1,200 and T 832 .
respectively, The principal is
(a) T 7,500 (b)Y ¥ 4,000
fe) ¥ 3,000 (d) ¥ 5,000

119.The area of a trapezium is 384 em?,
Its parallel sides are in the ratio 315
and the perpendicular distance
between them is 12 cm. If each of the
parallel sides are increased by 2 cm,
then the area of the trapezium

increases by
{a) 22 cm (b) 24 cm*
fc) 28 cm? (@18 em?>

120.The perimeter of an equilateral
triangle is 36 cm. The area of the
inscribed. circle of the wiangle is [m
5¢). Cm).
(&) 12m bl 24n
() 36n {d) None of these

121.A sphere is formed by melting three
_spheres of radii 1 cm, 6 om and 8 cm.
The radius of the new sphere will be
(a9 em (b) 10 cm
(chy11 o [(d) 12 cm

122.The radius of the base of a conical
vessel is 10 cm and its height is 48
cm. The vessel is full of water. This
water is poured into a cylindrical
vessel having base radius 20 cm. The
depth of water in the vessel is
fa) 4.5 cm (b} 3 cmi
(c) 4 cm ()35 cm

123. The diagonal of a cube measures 573
em. The surface area of the cube is (in

em 2]
(&) 216 by 252
fe) 150 {d) 240

124.Four equal circles of radius 4 cm
touch each other externally. The area
of the region bounded by the four
circles (in cm?) is
(a)l6m )44 -=w)
16 -1 (dedd =)

125 The radii of two solid right circular
cylinders are 4 cm and 3 cm
respectively and their heights are
(h+1) cm and (@2h+1) cm
respectively. If the areas of the whole
surface of the two cylinders are
equal, then the ratio of their volumes

(a)5:16 (by20:27
(c116:17 dysn: Bl
25/02/2015
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126.1f a*+ a4+ 1=0, then one value of
a® + 1is equal to
{aj 1
e} 2 (dr 4

127.The distance of the point (-12,9)
from. the origin is
(a) +12 units
(b) 9 units
{c} 15 units
(d)y21 units

IEB{t’m—--E Hi= =0, ﬂmnthevalue of
m> ~3m*+3m+3n +3n 24nis

(a) —224 (b3 -201
(c} -187 (d)-152
lzﬂlfx‘jul,;"-i, x¢ =1, the value of
(ﬂ] is
Lx+y
4 o
(a} (b s
|""
+3 3.
(’C *; [d}z

130.0f x+y-z=8 x°+y +z°=48
then the value of xy - yz — x5 is
(a)+8
()-8
fcy+ 10
(dj-10

131.If each interior angle of a regular
polygon is 120°, then the number of

its sides are
fa) 3 by &
c) 4 ()5

132.G is the centroid of an equilateral
AABC, each of whose sides is 12 cm.
Then the Lengrh of AG is
(2} 343 cm
(b}4+3 em
() 6+/3 em
(d) 843 cm

133. Two tangents drawn at points A and
B of a circle with centre O intersect
each other at a point P. If

ZAOB = 1207, then measure of £AFPB
is :
(a) 80° (h) 70°
(62" [d] &0°

© 134.The side AC of the AABC is produced
to D, such that CD=CB. If
ZACE = 70°, then the value of £ADB
i :
(a1 357 {h) 407
(e} 457 [d}55°
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135.1n a'circle of radius 5 cm, AB and AC
are two equal chords such  that
AB= AE & em. The length {;rt‘BE‘ {in
cm) is
fa) 1.2
{bi24
fcl4.8
(9.6

136.1f tan®=> (O being positive acute

arlgle}q then the value of sin® + cos 8
is '

h Z :?_-
{a}a [_b]4
it ?
i gy
(«:‘]5 {}

137.The heights of two m'n-mrs are IEJL'I m
and 60 m respectively. If the angle of
elevation of the top of the first tower
from the foot of the second is 607,
what is the angle of elevation of the
top of the second from the foot of the

first?
(a) 30” {b) 60"
(c) 45° (22 %

138.1f sect = cosec q:-émd the angles and
¢ be +ve acute angles, then the value
of sin( + ¢)is

{a) 1 B0
i : 1
Lo d o

{c} ( ]'u'z
smE’l +cosh

139.0f —— " =3 then the value of
a 5]

sinte - costeis

i 5

(a) 5 (b} -
& ST

(€} E Ed}-?.'

140.1f @ be a poﬁitive acute angle and |
coste - sin ﬂ_E then the vahie of |

1-2sin’0is
1 9
@ Lo
&
31 * F oA
(e} i ]3

‘141, Three years ago, the average age of a
family of 5 members was 17 years. In .

the meantime a baby was born and
the average age of the family is the
¢ame today. The present age of the

baby is
(a) 2 years b)) 2.4 years
(i3 vears {d} 1.5 vears



Directions : Percent of division of Mr. X’s
income in different categories for the month
of January and February is given below.

Children's
Education

January  February

Total income :
January 2010 =¥ 35,000
Total income :
February 2010 = ¥ 45,000
142.The combined expenditure of Mr. X,
in ¥, in February, on food and house

rent was
(a) 2,250 (b) 19,250
(c) 24,750 (d) 42,750

143.The difference in expenditure on
food in January and February 2010,
(in T) was

!

! '““‘“Englis hLﬂnguage L 28

Dirctions: In questions no. 151 to 155,
some parts of the sentences have errors and
some have none. Find out which part of a
sentence has an error. If a sentence is free
form error choose the option (d).

151.The old man went to the barn (a)/to
milk the cow (b)/with a cane. (¢)/No
error (d)

152.Everybody but Ram (a)/ has paid
(b)/their dues. (c)/No error (d).

153.1saw (a)/a bad dream (b)/lasf night.
(¢)/No error (d)

154.Will you please (a)/tell me the
reason (b)/of an earthquake ? (¢)/No
error (d) '

155.1 owe (a)/ much to you (b)/ on our
success. (¢)/No error (d)
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(@0 (b) 1,250
(c) 3,500 (d) 7,500
144.1f in February, 25% of the savings was

spent for buying gifts, then Mr. X

bought gifts worth ¥
(a) 2,500.00 (b) 2,250.00
(c) 875.00 (d) 562.50

145.The percentage change in the
expenditure on house rent in the two
months of January and February was

(a) increase of 2 g %.
(b) decrease of 2 g %
{c) increase of 2 % %
(d) decrease of 2 % %

Directions : The following pie-chart shows
the result of a survey among 100 students
regarding their subject preference. Examine
the chart and answer questions no.
146-150.

Directions : In questions no 156 to 160,
sentences are given with blanks to be filled in
with an approptiate word (s). Four
alternatives are suggested for each question.
Choose the correct alternative out of the

156.They ...... park their car there! It's my
garden’, )
(a) needn’t (b) doesn’t
(c) can't (d) don’t

157.A team of threé scientists an
artificial heart that can conduct
blood circulation normally.

(a) has developed
(b) have developed
(c) had developed
(d) is developed |
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146.How many  students  prefer
Mathematics ?
(a) 72 (b) 18
(c) 20 (d) 54

147.The number of students who prefer
Computer exceeds that of the
students who prefer Mathematics by
(2) 60 (b) 10
(c) 20 (d) 40

148.The percentage of students preferring
Biology  is less than that of
Mathematics by
(@18
(b) 5
(c) 20
(d)15

149.Preference in Biology exceeds that in
English by x number of students.
With respect to total number of
students involved, x% stands for
(a) 36%
(b) 10%
(c) 6%
(d) 12%

150.The ratio of students whose subject
preference was Computer over
Mathematics or English is
(a)3:1
(b)5:12
(©12:5
ay1:3

o

158.The mother was anxious ...... the
safety of her son.
(a) at (b) upon
(c) on (d) about

159.You will have to catch the morning
flight, so you ...... get ready.
(a) may (b) must
(c) might (d) would

160.She is one maid-servant ...... is hard
to believe.
(a) which (b) whom
(c) what (d) who |

Directions : In questtons no. 161 to 165,
out of the four alternatives, choose the one
which best expresses the meaning of the
given word.

161. Cherish:
(a) value (b) appreciate
(¢) admire (d) flatter
7



162, Vigilant : -
(a} vigorous ‘{(b) watchful
[} awake {d) conscious.
163. Timid
{a) brave (b trembling
{c) cowardly (d) rigid
. 164, Skander
(a) defend (b1 defame
{c) praise {d) wander
165. Inflammable
(a) incombustible
{b) flammahble
() non-flammable
(d) non-inflammable

Directions: In guestion no. 155 to l?ﬂ
choose the word apposite in meaning to f:h-e
given-word:

166. Fictitious
[a)imaginative
“fcY real
167. Morbid
{a) healthy
) sickly
168, Poverty
{a) deficiency
(b) sovereignty
(e) aridity
{d) affluence
169. Immaral
{a) chaste
(b} desirous
(c} trivial
{d) romantic
170. Audible
() faint (b) attentive
{cy auspicious  (d) inanimate
Direction : In guestions no. 171 to 175,
four alternatives are given for the
Idoms/Phrase underlined in the sentence,

Choeose the alternative which best expresses
the meaning of the Idiom Phrase.

1711t all happened in the twinkling of an
eye.
(@) before one's own eyes
{(b)when everyone had their eyes
turned away
(c) very quickly
(d) magically
172.The fire gave off a dense smoke.
(a) burnt
{h)showed
(¢) emitted
(d) had fully

(b) pure
(d) foreign

(b} clever
(d) upright
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173. Never turn down the humble request  Directions : In questions no. 181 to 185, out

of a poor man.
{a) criticise
(b] reject
() laugh at
{d}discourage
:174.The threat to resign was his trump
card.
(&) instrument
(b) hobby
(c) best weapon
{d) habit
175. How can | belive what you say about
him? It was he who put a spoke is my
whel. _
(a) helped me to repair my wheel
{(b)helped me with additional
equipment
{c) prevented me in the execution of
my plan
{d)obstructed me from making
PrOgress

Directions : In questions no. 176 to 180, a
part of the senténce is underlined. Below
are given alternatives to the underlined part
at (¢, (b} and (c} which may improve the
sentence. Choose the correct alternative. In
Case mo IMprovenient is naedad, VOUF answer

s {d).

176.5he failed to reach  the
regardless of her best effore
{a} despite
(b} irrespective of
{c) whatever
(d) No improvement
177.The less I see him the much I like hun
{2) the further
(&) the moze
(c) the greater
(d) No improvement
178.1 haven't given an examination for
two years.
(a) set -
{b)made
{c)taken
{dyNo improvement
179. They are at a meeting upstair.
{a) in the upstairs
(b} on the upstairs
(€) upstairs
{d} Mo improvement
180.Let us walk in the garden for dinner
{a) tll
i {b)by
¢ fe) from
(d) No improvement

target

Downloaded from ExamPundit

of the alternatives choose the one which can
be substituted for the given words/sentence.

181, Easily tricked or fooled
{a} Innocent
(¥ Impulsive
{e) Gullible
(d) Naive
182.0ne who specialises in the study of
birds
{a} Manuralist
() Biologist
() Zoologist
(d} Ornithelogist
133 A person who readily changes his
party or principles
(a) Scapegoat
{(b) Turncoat
(¢} Mercenary
(d) Immigrant
184. That which cannot be perceived
* {a) Imperceptible
(b} Anonymous
() Intelligible
(d) Nlegible
185. Property inherited form father {or
am:eswrs]
(a) Pension
() Alimony
() Patrimorny
(d)Legacy

Directions 1 In questions. no. 186 to 190,
there are four different words out of which
one is correctly spelt. Find the correctly spelt

186. (a) interrogate

(b} interogate -
(¢} interogete.
(d}intterogate

: 187. (ayembarrassment

(byembbarrassment
(] embarassment”
(d) embarrasment

188, {a) contemporary

(b} conitemperary

(&) contemporery

{d) contamporary
189. (a) facination

(b} fasination

{c) fascination

fd) fascenation
190. (a) ambasader

{h) ambassader

() ambasador

{d)ambassador




| works in. The world he i

Directions : I questions no, 191 to 200,
ymmﬂpm;mmmqmm
ﬂrmwﬁdbﬂrﬁm best
mmmmhquﬂmm_f e four
alternatives.

Dick Mallory is a book publisher. His
office on the fortieth floor of a skyscraper in
the center of New York Clty is the world he
in i a white
house on a quict street in a suburb 30 miles
from the big city. Whether he is at work in
ﬂmlﬂuﬁ&g wity or-at home in the

:En mh s tied to machines,
many ways he represents modern man in
| the big city- modern man in the machine

| age

i

In a typical working day, Dick is
swakened by the buzzing of an electric
slarm clock. As he pushes a button 1o
 silence the alarm, he turns on the radio
!:m:[ahﬁbedm' the moming news.

- Then he goes to the bathroom for a quick
shave with his electric shaver.

After dressing, Dick goes o the
kitchen, where his wife has begun 1w
prepare breakfust. Eggs are cooking on the
&wkmve.hﬂeﬂ!uheﬁxgmadmm
ﬂmﬁ:mmﬂmﬁmhhﬁ;mﬂeh
an electric coffee maker. From the electric
refrigerator Dick takes a carton of cream,

{ another of fresh milk, and a can of orange

* juice. He opens the can with an electric can

i
5

opener, mixes the contents with several

| eans of cold water, and the orange juice is
ready,
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m.wﬁudm Dick do? He's a ... 196. Name three electric appliances which
(a) salesman Dick’s wife uses to prepare bralfast.
[b}m {a) stove, toaster and can opener
[m {h)refrigerator, can opener and
192.Dick ..... New York it Ko
(a) lives in (d) stove, toaster and coffee maker
{h}ﬂnﬁnmwmkh 197. What does the word ‘heart’ in the
() Tives away from expression ‘heart of the big city' mean?
() lives close o %anu:l %m
193. What does Dick represent?  Middle (d) Interior .
(a) A city man in the age of science  198-The phrase ‘tuns on' in the passage
(b) Modernity ; i
{tlmmuhth!mmﬂm
(d) Modern man in the age of science
194, What does Dick find common at his
place of work and at home ?
(a.}cmﬁm () Noise
(c) Quietness  (d) Machines L ee
195 Which of the following statemnt is mjm&mwmmm
- e e
[a) Dick ks about th #oesto
AT i
B s o Shectic SHAYET 260 Which of the following is the most
- ' ] ‘appropriate title for the passaeg ?
{c) Dick listens to the radio news @) ; Science
while he s drinking his coffec. .’ 5 m}w_ 7 e
(d) Dick lives in the suburb because lﬂdlﬁdﬂﬁﬁ v
he thiuks & 18 auistie and less (ﬂﬁtﬂyﬂmhﬁtwm
crowded than New York. (d) Man at the mercy of Machines
Downloaded from ExamPundit 9
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